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8 2 ENTRANCE EXAMINATION, 2012

M.Phil./Ph.D.
LINGUISTICS

[ Field of Study Code : LINP (134) ]

Time Allowed . 3 hours Maximum Marks : 70
PART—A
( Marks : 30}
Attempt any fwo of the following : 15x2=30
1. Is the dichotomy between ‘verb’ and oun’ as a grammatical category very rigid across

3.

.. languages? Discuss it in detail.

Discuss the phenomenon of ‘contact-induced language change’ in detail by giving
examples from Indian languages.

What morphological features define South Asia as a linguistic area? Give examples.

Write an essay on word order typology describing the correlates that hold between
logically distinct word order properties,

Write an essay on the semantics of relative clauses, with examples of different kinds of
relative clause found in the languages of the worid.

Describe the role of the human body, the day-to-day life of human beings and the
intersubjective relations among people in the formation of conceptual and linguistic
structures.

Write an essay on the main aspects of any one of the following theories of phonology :
fa) Autosegmental Phonology
{b} Optimality Theory

To what extent is it reasonable to regard speech as consisting of a sequence of discrete
segments? Explain.
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10.

11'

12.

13.

Discuss Localization and Lateralization hypotheses and Connectivists’ thecries to explain
language and brain retationship.

Examine the distinctions between ‘Acquisition’ and Leaming’ and discuss the relevance of
this distinction in second/foreign language teaching.

Write an essay on the structure of a sign language and issues of standardization, and
language education for the deaf.

Distinguish between tense and aspect, discussing these categories with data from Indian
languages.

PART—B

( Marks : 20 )

Discuss any two of the following with examples :
_ 10%x2=20

fa} Metaphor and metonymy

{b) Leipzig glossing rules

{¢/ Word formation processes

{d) Literature as a means to language learning

fe} Lenneberg’s arguments for biological foundations of language

{fl Acoustic space

g} Handedness and lateralization

{hi Argument structure

(i Anaphora

{/) Lambda abstraction and its uses in semantic theory

fk) Entailment, implicature and presupposition

(i} The IPA chart
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ParRT—C
{ Marks . 20 )
14. Attempt any two of the following guestions : 10%x2=20
{a) Consider the following two sentences of English :
(it I haven’t ever been to Chenndai
fii} =+ I have ever been to Chennai
Formulate a hypothesis about the distribution of ever in English, identifying a
semantic property of the environment in which it may appear. Does this hypothesis
explain the following contrasts?
(Il No one who has ever been to Chennai regretted it.
{2} + Someone who has ever been to Chennai regretted it.
(3) Bveryone who has ever been to Chennai loved it
(If necessary, modify your initial hypothesis about the distribution of ever so that it
covers these cases.)
(b} In English as well as crosslinguistically, the word or is sometimes interpreted
exclusively but sometimes inclusively :
{i)  Either John will come, or Bill {interpretation : John or Bill, but not both)
{ii} Ifyou take the final or write a paper, you will puss, {— if you do both you will pass
as well)
Is the difference a case of ambiguity? Justify your answer. If your answer is negative,
formulate a hypothesis about how and why one of the two interpretations derives
from the other,
{c) Give the syntactic derivation for three of the following sentences. They may involve

head-to-head movement, do-insertion, expletive insertion, NP/DP movement and
wh-movement :

fii Have you seen my medel airplane collection?
ii) John was bitten by an advertising executive.
(i) Mary is likely to leave Delhi.

fiv} Sudha seems to have been mugged.

{v) I asked what Rohit bought at the supermarket.

3/82.



{d) What phonological rules are motivated by the following examples, and what
order do those rules apply in?

Singular | Plural Gloss Singular | Plural Gloss
klup klubi ‘club’ trup trupi ‘corpse’
dom domi ‘house’ snop snopi ‘sheaf’
Zwup Zwaobi ‘crib’ trut trudi ‘labour’
dzvon dzvoni | bell’ kot koti ‘cat’
lut lodi ‘ice’ grus gruzi ‘rubble’
nos nosi ‘nose’ vus vozi ‘cart’
wuk wugi ye’ wuk wuki ‘bow’
sok soki juice’ ruk rogi ‘horn’
bur bori ‘forest’ Vuw vowi ‘ox’

sul soli ‘salt’ buy boyi ‘fight’
sum surmni ‘noise’ zur Zuri ‘soup’

fe) State all the features which are changed in the following rules :
) [d - [
(@ [k -yl
fiii) [o] — [w]
i) [ - [Y]
(v} [e] —Idg
() Draw line diagrams to show the difference between F1 and F2 of—
{i) two vowels in a sequence;
fiii a semivowel and a vowel in a sequence;
(iii} a_ single vowel,

fiv) a voiced consonant and a vowel in a sequence.
Or

fv) F1 and F2 values of four vowels are given below :

Vi V2 V3 V4
F1 500 300 580 1000
F2 2100 2300 1500 1860
Put them on a scale—
(1} from high to low
{2) from front to back
w5 %
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PART—A
( Marks : 5)
Choose the correct option of the following : 1x5=5

1. Accents differ from dialects, because
{a) accents are not as bad as dialects
(b)" accents are mainly found with foreigners, but dialects are used by Indian people

fc} accents are distinguished from each other by pronunciation, but dialects are
distinguishable in pronunciation, vecabulary and grammar

{d} accents are distinguished from each other by grammar, but dialects are
distinguishable in pronunciation, vocabulary and grammar
2. The four main social factors that can explain language variation are
{a) | topic, content, intentions and meaning
{b} participants, interlocutors, social groups and addressees
{c} participants, setting, topic and function _ '
{d) participants, setting, location and geographical background

3. The notion ‘social variation’ means that
fa} social factors influence gur way of speaking
{b) social behaviour is complex
{c) dialects are as complex in their grammar as standarq languages
(d) not everyone is able to speak' English properly
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4. Which of the following statements is true?

(a}
{v}
{c}
(d)

It is logically impossible that A entails not-A.
A and not-A are always logically contrary,
If A is logically true, then not-A is logically false.

If A entails not-B, then B entails not-A.

5. Which of the following sentences is true?

(a)
®)

Human’s share 99% of their genes with chimpanzees.

The ability to hear speech sounds is a necessary condition for the acquisition of
language.

fcj Neanderthal man’s skeleton was not capable of rapid speech.
{d) Homo sapiens is a direct descendant of Neanderthal man.
PART—B
( Marks : 15)
Attempt any two of the following questions ; 72%x2=15

6. Consider the following data from Classical Greek :

grapho: 1 write uo: T lose™

grapheis ‘you (sg.} write' ueis ‘you (sg.) lose’
_;‘aphei ‘he/she/it writes’ uei ‘he/she/it loses’

grapho:men | ‘we write’ uo:men ‘we lose’

graphe:te ‘you {pl.} write’ ue:te “you (pl.) lose’

graphousi ‘they write’ uousi ‘they lose’

{a) Divide the words above into Mmbrphemes and figure out the meaning of each

(b)

morpheme,

What are the roots of the Classical Greek verbs ‘write’ and ‘lose’?
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7. Mokilese is a language spoken in Micronesia (edat of the Philippines). Examine the
distribution of the voiced and voiceless vowel pairs— [i, i] and [u, y] (voiceless vowels
have circle under the phonetic vowel symbol) :

pisan ‘full of {eaves’ uduk I flesh’

dupykda ‘bought’ kaskas ‘to throw’ o
puko ‘basket’ f};kl ' ‘to strike something’
kisa ‘we two' pil “‘water'

Supwo firewood’ apid ‘outrigger support’
kamwokiti | ‘o move’ ludzuk $o tackie’

For each pair deterrnine whether they are allophones of different phonemes or

allophones of the same ‘phoneénie.  Provide evidence for your answer. If they are

allophones of one phoneme, state the contexts in which each sound occurs and
" decide which sound is: 'the“basfc sgund''

8. In English, need can behave like a verb which takes the ending -s in the third person
singular [as shown in f{a)fi, {a) (ifi) and fa)-(iv) below), and is negated using do
[as shewn in {e)fii ] :
fa} () John needs to take a break
(i) John doesn’t need to take a break
{iii} Everybody nceds to take Break
{iv) Nobody needs to take a break

In certain environments, however, need can behave like an auxiliaty such as can, in
that it does not take the ending -s in the third person singular [compare : John can
swim, *John cans swim], and"it' s negated-tithout do [compare : John cannot swim,
*John doesn’t can swimj. In addition, the verb following need is not preceded by to
[compare : John can swim, *John can to swim). However the environments in which
need can display this behavior are extremely restricted, as shown in (b} :

(b} (@ *John need apply
(i} John needn’t apply
{iij} *Every linguist need apply
(iv}' No linguist need apply

{vj *Some linguist need apply

State a very simple semantic hypothesis to explain the distribution of auxiliary need
in (b). . -
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9. State a simpie hypothesis to.account for the following constraints on DP conjunetion :

10.

(a}

(b)

fii A man and two women showéd up

fiy No man and few women ahdwedl up

{ili} Every student and most professors khqwed up
fiv) No girl and at most three boys showed up

(j ?? A man and few women showed up
fii) ?? Two students and few professors showed up
(it P? No girl and most boys showed up

Does your hypothesis make the right predictions for the data in {¢)?

c)

Discuss with examples any two of the following :

{a)
{)
{c)
(d)
(e}
o
(g}
th)
(i
0)
(k)
g

iy At most six girls and at least four boys showed up
(il None of the boys and exactly one girl showed up

fiii} A few men and an even number of women showed up

PART—C
( Marks : 30

15%x2=3(0 |
Linguistic area

Grammaticalization

Economy f.:rinciplcs in the minimalist programme

Aktionsart

Distinctive features

Structuralism as formulated in the works of de Saussure and Jakobson
Word structure

Assessment of neuro and cognitive disorders of communication

‘Bernoulli’s effect

Acoustic space and the first two formants
Spectrography as a technique for consonant study

Pitch, tone and intonation




(m). Lambda abstraction

() Speech acts _

(o) Noun classes and classification

{r) Stages of child language acquisition
(@ Generalized quantifiers

{r) . The Casc Filter

{s} Anaphor binding

PART—D
( Marks : 20 )

Attemnpt any one of the following questions :

11,

12.

13.

14,

15,

16.

17.

18'

19'

20

Discuss, in detaii, the relationship among language, culture and cognition. In what -

ways are the human representational systems oriented {a) in the structure of the
word, (b} in the mind, and (¢} in the structure of the brain?

What is meant by the ‘use’ theory of meaning? Describe the notion of the ‘speech acts’
as developed by Austin and Searle. Discuss the notions of ‘mtentionaht.y and
‘context’ with respect to speech acta

Write an essay on different types of dyslexias and explain how dyslexia studies
contribute to an understanding of language and brain relationship.

Write an essaj'r on the generative approach to wh-movement. What are the locality

consiraints that have been proposed to constrain it?
Write an essay on the study of errors in second/foreign language learning.
Write an essay on the optimality-theoretic approach to phonology.

Write an essay on various types of non—mminatwe subjects found in South Asw.n
lansuagcs

What are meaning relations? How do they differ from logical relations?

Write an essay on language documentation. How does it differ from field linguistics?
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PART—A
( Marks : 10 )
Choose the correct option of the following : ' 1x10=10

1. The linguistic relativity hypothesis says that

{a)
()

{c)
{d}
(e}

the language that you speak will give you particular accent

if you speak a primitive language, you will not be able to understand abstra
concepts .

the languagc that you speak can determine how y::m think
all languages are related

some languages are evolutionarily superior and will dominate or obliterate other
languages :

2. What is the definition of grammatical?

fa}
(b}
{c/
(@
(e)

Consistent with the rules learned in English class
Consistent with the rules of the mental grammar
Inconsistent with the rules of the mental grammar
Not using slang or jargon

None of the above

3. If a sentence is ungrammatical, it is

(a)
(b)
{c)
{d}
(e)

not a true statement

impossible to understand

inconsistent with what is taught in school
inconsistent with the mental grammar
None of the above
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4. Natural lahguage is defined as

{a)
)
(c)
{d
(e}

language that is acquired without instruction by humans
any language ‘that can be used by humans

language that is created for a specific purpose

language that can be learned by animals

None of the above

5. Indicate whether the following sentences are True or False :

(a)
)
fc)
{d)
(e}

Old English could not express abstract concepts,

All normal humans acquire at least one language.

All languages have subjects, objects and verbs.

Only human language has the property of productivity.

A speaker of a language that does not distinguish green from blue cannot see
the difference. '

6. Which of the following statements (all of them true) is an example of an implicational
universai?

(a)
{b)
{c}

(d

All languages have nouns and verbs.
Half of the world's languages have a five-vowel system.

If a language permits syllables to begin with two consonants (like [tr p]} then it
will also permit syllables to begin with one consonant (like [r p]).

Some languages do not allow syllables to begin with two consonants.

7. Which of the foﬂoWg sets of words are cognates?

(a)
(b)
{c}
(d)
(e)

English tomato, Italian pomodoro, Arabic banadora
English dog, French chien, German hund

English father, Latin pater, French pere

English book, Arabic kita'h, Passamaquoddy wikhikon
English moon, English lunatic, English lunar

8. Which of the following are factors in language change?

{a)
()
fc)
- {d)
te}

Language contact

Desijre for regularity

Greater case of articulation _
The desire to belong to a particular social group
Ali of the above | |

B
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9. Sign languages are just like spoken languages in having nouns and verbs - basic word
order, and content versus function words. What do you conclude from this?
fa} Sign languages are natural human languages, just like spoken languages
b} All human languages share certain properties, regardl.esa. of modaﬁty
(c) Language ability is independent of the abili.tly.to speak or hear
{d} All of the above
fe) None of the above

10. Which of the following is a true statement about word order in the world’s languages?
fa) All languages are SVO,
(b) Al languages are SOV.
{c¢} Some languages lack verbs,
(d) Some languages permit any order of S, V and O,
fe} There are nine poasible orders of S, V and O (3x3}.

PART—B
( Marks : 15 )

Attempt any two questions : T¥ax2=15

11. Which semantic relations among sentences are exemplified in each of the following
pairs of sentences?

fa) 1 saw Terry at the anniversary party.
- It was Terry that 1 saw at the anniversary party.

{b} Jules iz Mary’s husband.
Mary is married.

{c} My pet cobra likes that taste of chocolate fudge.
My pet cobra finds chocolate fudge tasty.

{d) Vera is an only child.
Olga is Vera's sister,

{e} It is fifty miles to the nearest service station.
The nearest service station is fifty miles away.

(? My cousin Bryan teaches at the community college for a living.
My cousin Bryan is a teacher.

5462
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12.

‘13,

Consider the following data from Haitian Creole :

(@ ‘Sanble Jan pati.
seema John left
“It seems that John left.”

{b) Jan sanble li pati.
John seems he  leave
*John seems he to ha_ve left.”

{¢0 *Jan sanble pati.

A. What is the syntactic construction exemplified by the data? Give a brief
syntactic description of the properties of a similar construction in English. '

B. In what way does the Haitian Creole version of this construction differ from the
‘one in English? Is it a counterexample to the analysis given to this construction
in GB theory? Or, does it provide evidence that supports the analysis of
movernent in that theory? .

C. s sentence (b} a viclation of the theta criterion? How might we make sure that it
isn’t?

“Turkish uses morphology to form inténsiﬁcd adjectives, translatable rouéhly as ‘very ADJ’.

There are four classes, and it seems that one has to know, for each adjective, which class
it falls into, but the basic morphological process is the same for all the classes. Only the
base meaning is given, since the intenaified meaning is usually predictable. Data is in

standard Turkish orthography : 1 =IPA[i], & =IPA [¢], 3 =IPA[]], ¢=IPA[tj], y=IPA[j]

Class 1 Base meaning Base adjective Intensified adjective

1. empty bos bombos

2. naked dizlak dimdizlak

3. blue gbk . gomgok

4, black slyah simsiyah
Class IT Base meaning Base adjective Intensified adjective

5. yellow san sapsari

6. full dolu dopdolu

7. red kirmn Kipkirmiz

8. new yeni yepyeni
Class LT Base meaning Base adjective Intensified adjective

9. quick ¢abuk ¢argabuk

10. clean temiz tertemiz
Class IV Base meaning Base adjective Intensified adjective

11. evident belli " besbelli

12. round toparlak ostoparlak
13, hard katt kaskat

14, violet mos mosmor

S -
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14.

cete o 20 0 7T e L

Describe the morphology of Turkish adjective intensification using the standard
format of (MORPHEME]}, /allomorphs/, [allomorph, ] /environment. Since the classes
are not predictable on phonological grounds, you can use a subscript label X 4551
in your distribution environment (where X represents the relevant phonological

aspects}).

The following are phrases in Ehgl.ish and their translations into the Suika language :

1 betel nut

1 yam

2 betel nuts
2 coconuts

3 betel nuts
3 breadfruits
4 yams

6 yams

7 betel nuts
10 breadfruits
10 coconuts
10 yams

15 coconuts
16 coconuts
18 breadfruits

. 18 yams

19 betel nuts
20 yams

a vhol a tgiang
a tu a tgiang
a lo vhol a lomin

a lo ksie a Iomin

o vuo a korlotge

a moulang hori orom a tgiang

o sngu & korlolo

o sngu a kti€ék hori orom a tglang
© vuo a ktiék hori orom a lomin

a lo ngaiteganp hori orom a moulang

- & lo ngausmia hori orom a Jomin

0 sngu a lo kti&k

o ngausmia a kor!otge horl orom a korlotge

o ngausmia a korlolo

o ngaitegaap a korlolo hori orom a moulang

o sngu a lo ktiék hori orom a ktiék horl orom a korlotge
o vuo a lo kti€k horli orom a ktiék hori orom a korlolo

o sngu a mhelom '

{a) Translate into English ;
il a ksie a tgiang
fii} ngaitegaap a korlotge
fiii) ngausmia a ktiék

fiv) ek o vuo a lo kti¢k hori orom a tgiang

fb) Translate into Sulka :

fif 2 yams
fiil 14 yams

(iii) 1S5 breadfruits
fiv} 20 betel nuts

ulg
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PART—C
( Marks : 45}

Attempt any three questions : : 15x3=45

1%. Discuss the foundations of structuralism as formulated in the works of de Saussure
and Jacobson. What is Chomsky's criticism of the bchaviourist approach to

language?

16. How are the questions of subjectivity, history and cultural hegemony treated in post-
structuralism?. Discuss the main philosophical positions in this regard.
17. Write short notes on any three of the following :
(a) Phonation process
{b) Formants
{c} Spectrum and spectrogram _
{d) Wide-band and narrow-band spcctrograma
" f{e) Use of PRAAT/Wavesurfer in the study of vowel sounds

18.  Write an essay on distinctive features and major classes of speech sounds.
19. Write an essay on input processing in second language acquisition.

20, Wnte an e¢ssay on different types of neuro and cognitive disorders of communication.
Also mention the assessment tools and instruments used for different types of
disorder.

21, Discuss different types of aphasias and explain how aphasia studies contribute to
an understanding of language and brain relationship.

22. What are dative constructions? What are the semantic and syntactic aspects of these
constructions that help us define South Asia as a linguistic area? Justify your
answer.

23. What is basic word list? Why do linf\ifsts rely on it while working on a new language
or for comparative reconstruction? Is the list complete and satisfactory for data
elicitation in Indian languages?

24. What kinds of linguistic changes would you expect when two languages come into
intensive and long contact with each other? Explain by giving éxamples from Indian
context,

_JAf87 —
1ST¢ o

e A



*

25. Write an essay on thc range of variables that sociolinguistics postulate as essential

26.

27.

28,

for the study of language in society.

Discuss various ways in which Move has been reconccpfuallscd' in the Minimalist
Program. Is a distinction between A and A-bar movement still tenable in this
framework?

How is control different from binding? Discuss the crucial cases which show that
both modules are necessary in any theory of UG..

What implications does the principle UTAH have for the theory of argument
structure? Why has it been argued to be crucial for the theory of unaccusativity?

16/&+
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